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[1] PCB}H 170 69 3%0.3 3%0.8
[1-1]F/ 7o b7 ==L 23 22 0.01 0.04
[12]Y 7”7 ==L 36 18 0.04 0.11
3] F) 7 ru b7 = =8 47 13 0.05 0.14
[1-4] 7 F S/ oo b7 = =LH 36 9.1 0.02 0.06
[1-4-11 275 F—PCBD > H 33 44T+ 7uub 7 ==L (#77) 0.32 0.075 0.006 0.017
[1-42] 2757 —PCBD > H 34457 hT7unt 7=/l (#81) 0.029 tr(0.012) 0.004 0.013
[15] v ¥ 7uub” ==/ 21 4.6 0.06 0.18
[1-5-11 275 F—PCBD 9 5 233 44X 7unb 7 =L (#105) 0.57 0.13 0.005 0.014
[1-5-2] 275 F—PCBD 5 H 2344 5% 7unt 7 ==L (#114) 0.049 tr(0.013) 0.006 0.017
[1-5-31 27 FF—PCBD H H 23 445X r7unb 7 =)L (#118) 1.6 0.36 0.02 0.05
[1-5-4] 275 F—PCBD 9 H 234452 r7uab 7 x=)L (#123) 0.043 tr(0.011) 0.006 0.017
[1-5-51 27 FF—PCBD H b 33 445X r7unb 7 =)L (#126) 0.019 0.014 0.004 0.012
[1-6] ~%¥ 7 uu b7 ==L 6.8 1.9 0.02 0.06
[1-6-11 27 ZF—PCBD H H 233 44 5~FV7unb 7 =)L (#156) 0.050 tr(0.020) 0.008 0.025
[1-6-2] 275 F—PCBD 5 H 233 445 ~FH 7o 7 ==L (#157) nd nd 0.006 0.017
[1-6-31 275 F—PCBDH 5 234455 ~FH oo 7= (#167) 0.024 tr(0.011) 0.004 0.012
[1-6-4] 775 F—PCBD 5 b 334455 ~FH /oot 7 - =/L (#169) nd nd 0.003 0.010
(17| ~7 %7 uut7 ==/ 1.3 0.43 0.02 0.06
[1-7-11 27557 —PCBD 5 5 2233 44 5~7 X 7una 7=l (#170) tr(0.04) tr(0.03) 0.02 0.06
[1-7-2] 275 F—PCBD 5> H 2234455 ~F 4 7nnt 7=/ (#180) 0.17 0.048 0.009 0.026
[1-7-3] 277 —PCBD 5 5 233 4455 ~7 X 7una 7=/l (#189) nd nd 0.008 0.024
(8|47 X7 uut” ==/ 0.15 0.07 0.01 0.04
[19] /F/7unt 7 ==/LH 0.029 tr(0.025) 0.009 0.026
[1-10] 7 W 7B uET = =L tr(0.02) tr(0.02) 0.02 0.06
[2]HCB (~FH 7o~ EL) 89 30 0.07 0.21
[B] 7/ FY v 0.35 nd 0.05 0.14
[4] T4/ Y v 36 2.0 0.1 0.3
[5]= RV v 0.51 nd 0.1 0.3
[6] DDT¥E 5.6 2.7 3%0.2 3%0.7
[6-1]1p,p'-DDT 1.4 0.47 0.06 0.17
[6-2] p.p'-DDE 2.2 1.3 0.03 0.10
[6-3] p,p'-DDD tr(0.10) tr(0.07) 0.04 0.13
[6-4] 0,p'-DDT 0.99 0.42 0.03 0.09
[6-5] 0,p'-DDE 0.79 0.39 0.03 0.09
[6-6] 0,p'-DDD 0.11 tr(0.07) 0.03 0.10
[7]1 7 v L7 % 280 11 $%0.3 3%0.8
[7-1]cis- 7 O VT 88 3.6 0.04 0.13
[7-2] trans- 7 © VT 110 3.6 0.06 0.17
[7-3]AF 7 aTF v 1.6 0.31 0.08 0.23
[7-4] cis- / T2 v )L 9.8 0.23 0.05 0.15
[7-5] trans- / 52 v)b 72 3.2 0.03 0.10
[8] ~F % 7 v /L 5.1 1.4 0.2 0.5
[8-1]~TH T an 43 0.87 0.04 0.11
[8-2] cis-~TH# 7 B)LTRF L K 0.71 0.50 0.04 0.11
[8-3] trans-~T7"Z 7 g )LLRX T K nd nd 0.1 0.3
[9-1] 2-endo,3-ex0,5-endo,6-€x0,8,8,10,10-4 7 # 7 v 2 7R )LJ L (Parlar-26) nd nd 0.6 1.8
[9-2] 2-endo,3-ex0,5-endo,6-€x0,8,8,9,10,10- / F 7 @ 1 7R L) > (Parlar-50) nd nd 0.5 1.6
[9-3]12.2,5,5,8,9,9,10,10- / F 7 vt vtk )L J > (Parlar-62) nd nd 3 3
[10]~=A L v A tr(0.08) tr(0.07) 0.04 0.13
[11-1] o-HCH 520 53 0.03 0.08
[11-2] B-HCH 4.1 0.65 0.06 0.17
[11-3] y-HCH 100 13 0.03 0.08
[11-4] 8-HCH 16 1.3 0.05 0.14
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[14]12,4,6- NV -tert-7F N7 = ) —)L nd nd 0.28 0.71
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